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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m# %% | 1.00 | 000 ~ 145| 12212 |3m%x8BZ% -~ - -] 100kN/ %825 | 1.00 | 10.70 ~ 1540 | 12212 |3m%E#BZ% ~ -
s 1.00 | 1.45 ~ 9.24 100.00 | =nlst | 0.00 ~ 9.24 | 2.48 12.5683 st 1.00 | 6.00 ~ 1070 100.00 | =hst | 6.00 ~ 1540| 2.48 12.58
2 100kN/mM##BZ5 | 1.00 | 000 ~ 200 130.91 |3m%E#BZ 5 -~ -] 100kN/ %8825 | 1.00 | 10566 ~ 17.90| 130.91 |3m%E#BZ% ~
s 1.00 | 200 ~ 9.79 100.00 | #nlst | 0.00 ~ 9.79 | 2.42 12.22 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 1790 2.42 1222
3 100kN/m%EBZ5 | 1.00| 000 ~ 148 12259 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 10568 ~ 1550 122569 |3mE#BZ% ~
s 1.00 | 1.48 ~ 9.27 100.00 | =St | 0.00 ~ 9.27| 2.37 11.96 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1550 2.837 11.96
4 100kN/mM%#BZ5 | 1.00 | 000 ~ 190 129.33 |3m%E#BZ 5 ~ -] 100kN/mZ#8z5 | 1.00 | 1053 ~ 17.60| 129.83 |3mZ#Bz5 ~
s 1.00 | 1.90 ~ 9.69 100.00 | #nlst | 0.00 ~ 9.69 | 2.36 11.93 st 1.00 | 6.00 ~ 1053 100.00 | =nLst | 6.00 ~ 1760 2.536 11.93
5 100kN/m%E#BZ5 | 1.00| 000 ~ 185 125841 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 1055 ~ 17.10| 12841 |3m%E#Bz% ~
s 1.00 | 1.85 ~ 963 100.00 | #hd5 | 000 ~ 9.63| 2.41 12.20 st 1.00 | 6.00 ~ 1055 100.00 | #nLsy | 6,00 ~ 1710 2.41 12.20
P 100kN/mM##BZ5 | 1.00 | 000 ~ 104 115.65 |3m%E#BZ5 ~ -] 100kN/mZ#8z5 | 1.00 | 1058 ~ 13.70| 115.65 |3mZE#BZ5 ~
s 1.00 | 1.04 ~ 883 100.00 | =nst | ooo ~ 883 | 224 11.30 st 1.00 | 6.00 ~ 1058 100.00 | =nhst | 6.00 ~ 13.70| 2.24 11.50
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.22 65.13 | =nhS | 000 ~ 000\ 1.67 7.91 st 1.00 | .00 ~ 6.10 65.13 | TSt | 6.00 ~ 6.10)| 1.67 7.91
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.04 75.74 | NS | 000 ~ 000|175 8.85 st 1.00 | 6.00 ~ 6.90 75.74 | TNLSY | 500 ~ 690 1.75 8.85
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 475 59.20 | #nRS | 000 ~ 4.75| 1.78 9.00 st 1.00 | 6.00 ~ 5.00 59.20 | =ns | 5.00 ~ 6.00| 1.78 9.00
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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